https://www.messicks.com

A Helping Hand With Your Land Parts Hotline: 877-260-3528

147, 2050041U, 2050203V
VENDOR: Cub Cadet
SECTION: Figure Listing

DIAGRAM: Transmission Case, Differential, Hydro Drive
https://www.messicks.com/cc/90929?sectionId=231029&diagramld=474767

- i Part . Job Has
# |Title Description Number Price Stock Quantity | Image
IH- 4-6
0 |SCREW Screw, 5/16-24 X 5/16 Hex Soc Hd $0.00 business |0 no
139042
days
0 [~NLA Nut, Mach Screw Spring ~NLA Call Call 0 no
IH- 46
0 |[SCREW Screw, 10-24 X 1/2 C-Z Slt Pan Hd Mach $0.00 business |0 no
159927
days
4-6 Add
o |WASHER- Washer, 7/32 X 1/2 X .049 C-Z 736- $3.21 |business |4 no To
FL-.203 I 0931
days Cart
IH- 4-6 Add
o |BOLT/NO =I5 rew, 3/8-16 X 5/8 Hex Hd Cap 24840- |$2.33 |business |0 no To
LONGER A
R1 days Cart
IH- 4-6 Add
0 BOLT/NO Screw, 3/8-16 X 1 Hex Hd Cap 24840- |$2.33 business |0 no To
LONGER A
R1 days Cart
IH- 4-6
0 |PLUG Plug, 1-3/8 Cup 379277-1%$0.00 business |0 no
C1 days



http://www.messicks.com
http://www.messicks.com
https://www.messicks.com/cc/90929?sectionId=231029&diagramId=474767
https://www.messicks.com/checkout?pn=736-0931&vendor=cc
https://www.messicks.com/checkout?pn=IH-24840-R1&vendor=cc
https://www.messicks.com/checkout?pn=IH-24840-R1&vendor=cc

- - Part . Job Has
Title Description Number Price Stock Quantity | Image
717- 4-6 Add
SHIM Shim, Rear Brg Cup, .015 $2.80 business |1 no To
3124
days Cart
. Add
. 717- 4 in ——
SHIM Shim, Rear Brg Cup, .007 3125 $2.22 stock 1 yes To
Cart
IH- 4-6 Add
BOLT/NO '~ |screw, 3/8-16 X 5/8 Hex Hd Cap 24840- [$2.33 |business |0 no To
LONGER A
R1 days Cart
917- 4-6 Add
RETAINER RETAINER $27.48 |business|1 no To
3128
days Cart
717- 4-6 Add
RETAINER Ring, Pinion Shaft Front Brg Retainer, .113 $25.91 |[business|1 no To
3129
days Cart
4-6 Add
RETAINER- Ring, Pinion Shaft Front Brg Retainer, .107 717 $6.28 |business |1 no To
BRG. 3130
days Cart
IH-395099- IH-
R1 Ring, Pinion Shaft Front Brg Retainer, .101 395099- | Call Call 0 no
R1
717- 4-6 Add
RETAINER |Ring, Pinion Shaft Front Brg Retainer, .131 $5.46 business |0 no To
3132
days Cart
W ASHER 736- 4-6
SPRING W asher, Spring 3001 $0.00 business |0 no
days
4-6 Add
NUT-INS 712- . ——
LOCK 1/4 Nut, 1/4-20 Nylon Insert 0324 $2.72 business |1 yes To
days Cart
~NLA Rivet, 5/16 X 1-1/8 Rd Hd ~NLA Call Call 0 no
IH- 4-6 Add
BOLT/NO |5 rew, 3/8-16 X 1 Hex Hd Cap 24840- |$2.33 |business |0 no To
LONGER A
R1 days Cart
912- 2 in Add
NUT-LOCK [Nut, Hex Ctr. Lock, 3/8-16 GRB $3.12 4 yes To
3000 stock
Cart
DRIVE IH- 4-6 Add
SHAFT Rod Assy, Drive 397373-|$110.30 | business |1 no To
R2 days Cart
IH- 1in Add
HUB HUB 394034- | $85.39 stock 1 yes To
R32 Cart
IH- 3in Add
PIN PIN 19837- [$5.90 stock 1 yes To
R2 Cart
4-6 Add
ARM- . 759- . e
COUPLING Arm, Coupling 3009 $66.65 |[business|1 no To
days Cart
IH- 4 in Add
FAN ASSY Fan, Cooling 394065- [$17.48 stock 1 yes To
R92 Cart
~NLA Shroud Assy, Fan ~NLA Call Call 0 no
IH-530647- IH-
R1 Spacer, Pinion Shaft Gear 530647- |Call Call 0 no
R1
4-6 Add
LEVER- Actuator, Dump Valve 703- $13.06 |business |1 no To
DUMP 0310
days Cart
~NLA Rod, Dump Valve ~NLA Call Call 0 no



https://www.messicks.com/checkout?pn=717-3124&vendor=cc
https://www.messicks.com/checkout?pn=717-3125&vendor=cc
https://www.messicks.com/checkout?pn=IH-24840-R1&vendor=cc
https://www.messicks.com/checkout?pn=917-3128&vendor=cc
https://www.messicks.com/checkout?pn=717-3129&vendor=cc
https://www.messicks.com/checkout?pn=717-3130&vendor=cc
https://www.messicks.com/checkout?pn=717-3132&vendor=cc
https://www.messicks.com/checkout?pn=712-0324&vendor=cc
https://www.messicks.com/checkout?pn=IH-24840-R1&vendor=cc
https://www.messicks.com/checkout?pn=912-3000&vendor=cc
https://www.messicks.com/checkout?pn=IH-397373-R2&vendor=cc
https://www.messicks.com/checkout?pn=IH-394034-R32&vendor=cc
https://www.messicks.com/checkout?pn=IH-19837-R2&vendor=cc
https://www.messicks.com/checkout?pn=759-3009&vendor=cc
https://www.messicks.com/checkout?pn=IH-394065-R92&vendor=cc
https://www.messicks.com/checkout?pn=703-0310&vendor=cc

. i Part . Job Has
# |Title Description Number Price Stock Quantity | Image
4-6 Add
10| PIN-SPRING [ pi, "1/8 X 3/4 C-Z Hv Coiled Spring 715 $2.78 |business |0 no To
SPIR 3008
days Cart
11 [~NLA Plate, Air Baffle ~NLA Call Call 0 no
12| ~NLA Shield, Rear Cover ~NLA Call Call 0 no
4-6 Add
13 | BAR-FIXED Drawbar, Fixed 703- $35.67 |business|0 no To
DRAW 0401
days Cart
4-6 Add
GROMMET- 735- . e
14 RUBBER 3 Grommet, Rubber 3008 $2.78 business |0 no To
days Cart
L IH-
IH-394081- |Case Assy, Transmission - (Also order plug IH- _
15 RO1 379277-C1) 394081- |Call Call 0 no
R91
IH- 4-6
16 | BEARING Bearing, Bevel Pinion Shaft Rear Cup 394083- | $0.00 business |0 no
R91 days
717- 4-6 Add
17 | SHIM Shim, Rear Brg Cup, .004 $2.80 business |1 no To
3123
days Cart
4-6 Add
1g | BEARING- Cup Bearing 741- $5.95 |business |1 no To
Cup 04548
days Cart
IH- 4-6
19 |[BEARING Bearing Assy, Bevel Pinion Shaft Rear Cone 394083- |1 $0.00 business |0 no
R91 days
20|727-3025 |Plug, Breather 727 call call 0 no
! 3025
IH- 4-6 Add
21| GASKET GASKET 350837- |$18.67 |business|1 yes To
R3 days Cart
IH-394089- IH-
22 Plate Assy, Rear Cover 394089- |Call Call 0 no
R11
R11
4-6 Add
23 DRAIN Plug, 1/2-14 Automotive Sq-Soc-Hd Drain 737- $2.21 business |0 no To
PLUG 0177
days Cart
IH- 4-6 Add
24 | GASKET Gasket, Top Cover 394091- | $5.81 business |0 yes To
R1 days Cart
IH-394090- IH-
25 Cover, Top 394090- | Call Call 0 no
R1
R1
. Add
921- 5in e
26 | GASKET GASKET 3004 $7.05 stock 1 yes To
Cart
IH-394093- IH-
27 R1 Shaft, Bevel Pinion 394093- |Call Call 0 no
R1
4-6 Add
GEAR- 717- . e
28 REDUCTION Gear, Constant Mesh -66T 3141 $133.38 [business |0 no To
days Cart
No Longer IH- 4-6
29 -0ng Ring, Gear Retainer 323315- |$0.00 business |0 no
Availa
C1 days
4-6 Add
BEARING- 941- - e
30 CONE ROL BEARING-CONE ROLLER 0373 $12.22 |business|1 no To
days Cart
717- 4-6 Add
31 |RETAINER Ring, Pinion Shaft Front Brg Retainer, .125 3127 $26.50 |[business |0 no To
days Cart



https://www.messicks.com/checkout?pn=715-3008&vendor=cc
https://www.messicks.com/checkout?pn=703-0401&vendor=cc
https://www.messicks.com/checkout?pn=735-3008&vendor=cc
https://www.messicks.com/checkout?pn=717-3123&vendor=cc
https://www.messicks.com/checkout?pn=741-04548&vendor=cc
https://www.messicks.com/checkout?pn=IH-350837-R3&vendor=cc
https://www.messicks.com/checkout?pn=737-0177&vendor=cc
https://www.messicks.com/checkout?pn=IH-394091-R1&vendor=cc
https://www.messicks.com/checkout?pn=921-3004&vendor=cc
https://www.messicks.com/checkout?pn=717-3141&vendor=cc
https://www.messicks.com/checkout?pn=941-0373&vendor=cc
https://www.messicks.com/checkout?pn=717-3127&vendor=cc

- - Part . Job Has
# |Title Description Number Price Stock Quantity | Image
726- 4-6 Add
32 |PLUG Plug, 2-1/8 Expansion $4.07 business |1 no To
0216
days Cart
Transmission Assy, Hydrostatic Drive - (For 717-
33|717-3032 components see list of parts under details of Call Call 0 no
. o 3032
hydrostatic transmission
IH- 4-6 Add
34 | TUBE Tube Assy, Suction 394827- |$84.04 |business |1 yes To
R21 days Cart
35| ~NLA Bracket, Lever Retaining ~NLA Call Call 0 no
. ) Add
Hydraulic - 923- 60 in ——
36 Filter Oil Filter 3014 $15.93 stock 1 yes To
Cart
IH-223472- IH-
37 Case, Differential w/Drive Gear 223472- | Call Call 0 no
Cco1
co1
No Longer tH- 4-6
38 -o0ng Gear, Drive -46T 350787- |$0.00 business |0 no
Availa
R1 days
IH- 4-6
39 |PIN Pin, Pinion Shaft Lock 350788- | $0.00 business |0 no
R1 days
IH-350789- IH-
40 Shaft, Pinion 350789- | Call Call 0 no
R1
R1
717- 4-6 Add
41 | PINION-10T | Pinion -10T $35.42 |business |0 no To
3113
days Cart
42 | ~NLA Gear, Side ~NLA Call Call 0 no
4-6 Add
BEARING- ) 741- . —
43 CONE ROL Bearing Assy, Cone 0369 $33.50 |business |0 no To
days Cart
IH-376158- IH-
44 Cage Assy, Differential Brg 376158- |Call Call 0 no
R91
R91
IH- 4-6
45 | BEARING Bearing, Cup $0.00 business |0 no
ST974
days
717- 4-6
46 |SHIM .004 |Shim, Bearing Retainer, .004 3097 $0.00 business |0 no
days
717- 4-6
47 |SHIM .007 |Shim, Bearing Retainer, .007 3098 $0.00 business |0 no
days
717- 4-6 Add
48 |SHIM .014 |Shim, Bearing Retainer, .0149 $24.84 |business|1 no To
3099
days Cart
717- 4-6 Add
49 |SHIM .028 |Shim, Bearing Retainer, .0299 $19.28 |business|1 no To
3100
days Cart
Flexible IH- 6 in Add
50| Coupling Disc, Flexible Coupling 376257- | $27.05 stock 1 yes To
Disc R3 Cart
4-6 Add
51 [PIN-SPRING | b1y _spRING SPIR.25 o15- $2.62 |business |1 yes To
SPIR. 3006
days Cart
52| ~NLA Clip, Suction Tube ~NLA Call Call 0 no
53| ~NLA Bracket, Suction Tube ~NLA Call Call 0 no



https://www.messicks.com/checkout?pn=726-0216&vendor=cc
https://www.messicks.com/checkout?pn=IH-394827-R21&vendor=cc
https://www.messicks.com/checkout?pn=923-3014&vendor=cc
https://www.messicks.com/checkout?pn=717-3113&vendor=cc
https://www.messicks.com/checkout?pn=741-0369&vendor=cc
https://www.messicks.com/checkout?pn=717-3099&vendor=cc
https://www.messicks.com/checkout?pn=717-3100&vendor=cc
https://www.messicks.com/checkout?pn=IH-376257-R3&vendor=cc
https://www.messicks.com/checkout?pn=915-3006&vendor=cc

	https://www.messicks.com
	Parts Hotline: 877-260-3528
	147, 2050041U, 2050203U
	VENDOR: Cub Cadet
	SECTION: Figure Listing
	DIAGRAM: Transmission Case, Differential, Hydro Drive
	https://www.messicks.com/cc/90929?sectionId=231029&diagramId=474767



